N of simulated tracks vs hit

TrackingParticles

10?

[N of associated tracks (simToReco) vs hit ]

Reconstructed TPs
=
o
R

10

2 o
g g Il
) = “III'I
g I
oo
10 20
TP hits
[—— DQM_mKFIT_XIMmMusNOPU_newDefaults
—e— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess1
—w— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess2
—— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess3
I N of sim| —— DOM_mkFit_XiMinusNOPU_NEWdefault_specPLess4
) F 7]
2 o
L =
£l °
8 2
3]
2 210
X %]
(5] c
< [}
= o
o
E 10
10
E3
o +uof o
= . =
& . & 109
t
0.95 . 0.
0 5 10 15 20 25 0 5 10 15 20 25
TP layers TP layers

[N of simulated tracks vs pixel layer ]

TrackingParticles

N of associated tracks (simToReco) vs pixel layer |

Reconstructed TPs

PRy

Ratio

Ratio

i
|
|
6

8
P pixel layers

[N - .

1
T
5
>

[[N of simulated tracks vs 3D layer ]

6

5 8
TP pixel layers

N of associated tracks (simToReco) vs 3D layer |

[%2] F 2 e a e
3 E a
L r —
5 0F : 3
2t £
35 .l 2
< 10°F - S
i 3
E @
1022_ -
10F -
1k -
‘gl.u- * T T T T T
5 oo :
4 1:.:1i11111| L
'E'!'!'II][l '
09024 6 8 10 12 14 16 18 20 %02 4 6 8 10 12 14 16 18 20

TP 3D layers

TP 3D layers



	Contents
	Page 1


